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These are publicized — 379 NOR K9P WA

OVERVIEW

2"22 77 explained that by purchasing 0°72y there is no wwn of 197°0. In a
case where the 72v is a 11 2°00°% or a DWOTAIP there is no wWwni of 1910
since these issues are well publicized and every buyer knows about them.
There is a dispute between >"w1 and moon why does 117 N°X X7P 1717 remove
the concern of Non°0.

— *9a:y 9201 'o90PN Y
»'"w9 explained; that since these faults are known we assume that the buyer
realized the 72y has these 1212 and nevertheless accepted the sale.

mooIn disagrees with >"w7s:
— NP2 99N (3,38 97 8903 x33) $YI2Q 921NN P992T ON 1992499 NYP)

And the n'""1 has difficulty with >"w=, for in M=% 957 P95, the Xn™12

clearly states concerning if one finds out that the slave he bought was -
— 79395 75V 591 1Y 9IN MIVNY AN IN PN DOVOY

An armed robber or he was assigned to be killed by the government, the

buyer says to the seller here is your slave before you; take him back for there
is no sale. How can *"1 maintain here that by a 11 2°00°2 or a M3%17 2N that it is a
valid sale (because 221 720) when the X713 in 2"2 says that the sale may be voided.

mooIn offers his interpretation:
— 99w 94 1999 191209 11D YN KDY INOYW XY IND NN XD 0N 13939 Y919

And the n"= explains that since 1% n&8 X% therefore it is not common
that one should buy a "1 o°v0°% for a slave and therefore the 0°non were
not concerned for this type of 119220 since it is not common.

mooIn offers an explanation of >"w7s:
— 1959 MYN 991N YAPT RIYNT DIVNPN WID DPN INIHN 139329)

And ¥719R 120 substantiates °"w=» (in this manner); that whenever the

seller received payment for the slave, we assume -
— APy 930 )5 ONX RYP 1NY NHINT 12290 230 MHYNN NN ONP NPIYN PTa NI

' xop A,

? The *1v10 729 may eat 77171 since the buyer cannot void the sale (he accepted the Tav as is).

? The *1v35 72¥ may eat 717N since presumably when the owner bought him there was no 21p; therefore we
may safely assume that he is not a 7 0°00°% (otherwise there would have been a 71p). The chances that an
72¥ may be a 11 0°vo*? when there is no 1P is highly unlikely; therefore no 77°1x was made
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That since the buyer did not inspect the slave before paying, and these
PRI (of 1M oo ? and DWO12IP) are among these that are publicized
therefore we assume that he knew about them and he realized and

accepted them.® This explains our X1m3 here.
— YN NPIDN INMIY ONP 599910 T99Y THV 291 1D 9MINT NN

And that Xn>>12 in 2"2, which states that the n1? may say to the seller 97
Tap» 79w (and void the sale), is discussing a case where the npy» did not

pay yet, therefore he may rescind even though he may have made a p.
— *A9NIN 1YY 193NN NILIND RNIPY) 70997 ONN 12 YNIYUN NP

And this is somewhat indicated there (that we are discussing a case where
the n?1? did not pay yet), for the X723 asks and let us say 1°an% Nox27'

R R -
LN NPT ¥NPYN NRYN

This evidently indicates that the nY? is in possession of the money.

SUMMARY

"w7 maintains that if 3% n°X X%p the buyer accepts it and it is a valid sale.
NP0 maintains that it is not a valid sale but since % DX X7 it is
uncommon that one would buy a "1 0°00°2 and therefore no 77°13 of NoM°D.
1HX ' differentiates whether the buyer paid (it is a valid sale [for %21 720])
or he did not pay (it is not a valid sale [for he is the prmn]).

THINKING IT OVER
1. Is the 7 of a 1" w2 more publicized according to *"wA or according
to the n"1?

2. According to the explanation of 17°?X '1; when can the 72y eat 72170; when
the owner acquires him, or only after the owner paid for him?°

* It would seem that according to the ", it is a Myv np» even if he paid the money (for the 77 is usually so
prevalent that the n?1? can argue I was sure he was not a 1" 2°00°? since I did not hear about it).

> Actually there is no such X3 there [concerning a 11 0°v0*7]. Rather the X3 there asks on the w1 (of
the &n>72 which m»on previously cited) where it states 19°37 213 X¥n1; why do we say that it is a valid sale
since @72y 217 are 0°213, but XY maintains that 2177 MR 79N 19997 PR, therefore the implied question is
that (according to ?Xmw) the np1? should keep his money since 7°X77 2y 17°ann &°¥xnn. This indicates that
the Xw1 is in a case where the n? did not pay yet, and presumably so too is the X2°0 of 1" D°vob.

% See "X footnote # 115 and onwards.
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